INTO THE UNKNOWN: SINE (SAMPLE RESPONSES)

Step 3: Teamwork

Put your pieces of information together to find the identity. Let AD=1.

3|
=

sin(x+y) =

+
| &l S

+
AN
a

-sin(y)

+ cos(x) : sin(y)
-cos(y)+cos(x)-sin(y)
(x)-cos(y)+cos(x)-sin(y)

Il
EERERE

I
S

Il
Z.
=

TRIG IDENTITIES, PART 3 KZO

LeE-A*R°*N



INTO THE UNKNOWN: COSINE (SAMPLE RESPONSES)

Step 4: Teamwork

Find the identity for cos(x+y).Let AD =1.
cos(x+y)=ATF:ﬁ
= AB-BF
= AC-cos(y)-CE
=cos(x)-cos(y)—@-sin(y)
:cos(x)~cos(y)—sin(x)-sin(y)
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